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Choose the correct answer:

Johne’s disease is chronic enteritis that is caused by
pathogenic bacteria. The bacteria grow inside the ileum of
ruminants. Which statement explains what happens?

dxouall LY A

LSl dod Al pasdll el Olgdl 9 592 oy
b gl A bl Doyl CaSEDN 515 LSl gald .y 04l
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a. The production of protein slows down as the bacteria
grow and divide.

Agaluaily LSl 505 e o) ] ol

b. The intestinal lining thickens resulting in decreased
absorption of nutrients.

51331 ol gadl obatel (olass! ] dage sl Dl chowd

c. The bacteria stop the production of amylase inside the
small intestine.

A3l slaedl 310 5ekaedl 3] ) LSl Cads

d. The movement of chyme in the small intestine slows
down as the bacteria grow and divide.

LSl 305 g0 Ul dzBull slaadl (§ o30Sl Bylias 35,
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To investigate the effect of light on the growth of plant shoots,  eslp G pliscil ©F ALl pell 503 Lo sq4all A6 dwlyd
three shoots were used under different conditions as shown in LT 9o 92 LS dalises Log,l s
the apparatus setup below.

M AL pell 905 Jg> doummall Byliall Lo cdlg gy dns
Which is correct about the growth of the three plant shoots after

one day?
Black box light
3qui §gain =95
1
Shoot with
foilcap —
olngo acy
duioo dduby | Untreated
shoot
Shoot with _] aadut acy
tip removed
Jijo acy
dxglall sl aio
d a. The high concentration of auxin on the shaded side of the o> 8 wlaaling eel) el Colnl § S d&!j@ﬂ! N
untreated shoot has stimulated the plasma membrane's A gazell Ay Ggiuunn (o J89 (23U slidd) 0539 Wl Oliae
proton pumps and reduced the pH level causing cells to ol el (o el doy IS Dlasal ] S0l ee
Y elongate. As a result, the shoot grew towards light. g0l )
b. The foil has inhibited the ion uptake into the cells on both b?b‘” d"'\' dl u‘b_yw &tx ; tuwl @fjﬂ_b I
sides of the shoot due to low pH level in their walls causing ~ ©°*% “3 4';&3‘ " J?: f}b‘d! s > ‘Tﬂjii‘: b)&f:!
cells to stop dividing. As a result, the shoot with foil cap did ° pebllol 92 plads] a3y dl s>
\ not grow. 985 ) )
4 . . N
c. Theincreased concentration of auxin on the shaded side of (a1 @laall ¢ el Alllaall dg=d)l e cpuSoIIHS,S (3 8L3I
the untreated shoot has elevated the pH level in the cell  1dag cladl agz Bbjg LIS Ohd § o gaxll dxd 28y ]
walls and increased the water potential, which led to cell gl 925 ee Al Lad el Ay L) Alasas] ] (5352
\_ elongation. As a result, the shoot grew towards light. )
~
d. Exposure to light destroyed the auxin in the tip-removed die Jiall el § oSoYlmeds JI (ol w3 sguall (ol
shoot causing the cells at the tip to stop growing. As a o= Lglall Bl die LISII 855 (§ i Lo cdoglall A8l
result, the shoot with tip removed did not grow. Aglall Bl i Jlsedl ge Al gosa @) (I donyls . g0l
3
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Which statement is correct about the thickness of uterine
endometrium during a typical menstrual cycle?
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An increase of progesterone concentration results

in thickening of endometrium after ovulation.

&lay ASlows 83U J) (535 O A9l 050y 1S5 8oLy
Ao dos )

Around day 21 of the menstrual cycle, the
endometrium gets thinner due to an increased
production of oestrogen.

J81 o)l &illay gl (s,04d1 8)901 (30 21 poadl Jlg>
- o9 Aued 090y U] B3b) o Kol

The concentration of oestrogen falls immediately
after ovulation causing the endometrium to
become thicker.

oo LoLYl da Bl (g AwYl Ogapd 1S5 by
S b ol el eyl dillay Joes

If pregnancy occurs, the levels of oestrogen
decrease and progesterone increase, causing the
endometrium to become thicker.

9 ool Ggayd Sbgiune yaasud (el Gas 13)
el Bl Jaz les g gl Glgiune iy
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The diagram below shows the oxygen-haemoglobin .gykwl@«fﬁleﬁswdgouﬂwjlﬂ
dissociation curve.

Which of the following changes in CO2 concentration and  ed,Jly 055,801 weuST 36 585 & W bl oo &

pH level would probably be responsible for the shift from X Sy JI X oye JYl e Jggenadl 0950 OF (ySan ez 9yegl!
toY?

Wl sy

0, saturation of haemoglobin / %

5% (wobgoutll eno (W

Partial pressure O, / kPa
kPa / cdial juaansin bas

CO> concentration pH level
o w15 58 5 el (5 e
A Increases 2l Decreases sl
B. Decreases L2 Decreases _<sliu
C. Decreases <slin Increases 2la e
D. Increases 22 Increases 22
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Which of the following is a potential safety hazard in the
laboratory?

Sl @ Aodludl e ladgio [las JSad (s las 61

a. Handling hot test tubes or glassware with tongs.

Lalgy &Ll &)l 319919 5LasY Canlif o Jolasd!
Jnala)l

b. Shutting off the gas and electricity in case of fire in

the laboratory.

el 3 @ b Al (§ yeSlg 51 )

[ c. Pouring an acid into water inside a fume hood.

Aoggi By S5 slodl e (aelodl cue ]

d. Using a strong base to neutralize an acid if it splashes
onto the lab bench.

Aol e 33 13) eVl st Aslaad d1gd 5usld plisuiu
S|

Which of the following is an example of a dependent
variable?

¢&)w‘M|&CS’wM&WCST

a. The amount of fertilizers added to measure the
growth of different plants.

Aalisa)l GBLI ged Leld) d8LaA)I BJMS‘M

b. Measuring different trees to see which one is the
tallest.

Jsbl gl d8,ma) Hloxi¥ o sue ulid

c. The amount of sugar that dissolves completely at
different temperatures.

Adlisd Byly> ol wie WS 95 @1 Sdl 4

d. The amount of air pumped into a balloon to make it
fly.

b dlam) 09lb 3 i 1 slgell &S
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Which of the following is an example of a density- &SI e daime sl Joladl e Jla piad JII o0 3l

independent factor that limits the growth of a population? FOKLII go5 oy doo Sl A8l
a. Availability of food plakall y545
b. Infectious diseases Godaedl (o!,eY!
c. Migration 8ygll
d. Earthquakes Vil
7
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The diagrams below show the results of an experiment in  ©bg,Suall (o cne g5 e &y g5 J) bl ilo gusyl pii

which two microbial species were grown a specific culture Aae ddlae ol (I
medium.
Which of the following interactions suggests the (s (v dalic OB e ans obal edlelan) Oe Zsi
interdependence relationship between the two species? by, Saall
Species A grown alone Species B grown alone
in culture medium in culture medium
Spocies A o
A rel
= =
;- £
= = 2
S = 53
g3 x 3
£ €
= B
i
Time In weeks Time in weeks
uu 1 CERTTILRY I
FRISERYR ! Species A and B grown & HG0
together in culture
medium
Species A
B A ror
] =
2
o
= 4
5 a
g =
€
E=
Species B
e B e
v P O— 1
Time in weeks
£guulU (ol
a. Mutualism adaladl
b. Competition dudl!
¢. Commensalism A lasd|
d. Predation | A8V
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The table below shows the frequencies of red and white
flowers in a small population. Over a period of time, a

3
@

random change has occurred and the frequencies of this

population has changed.

Which of the following evolutionary processes explains

what happened to this population?
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sbadly sleodl Hea3ll 5SS Cawd Jomud 0Ll Jgdzdl
lgdue s Coda ¢l (e BAY Sdo (e ko &o.om”_’

aeixall 1dg) LS Cawd Capaasig

S pizmall lg) i Lo 5 &y sl Slidaall (e (6

Type of flowers At the beginning Over a period of time e
_J_.i-""‘_}ll s ;':'1'—.""' 5 \_-}njﬁ Cpe B35 (£ae
Red flowers (R) s 3 0.7 0.0
ol sanll
White flowers (W)_s» 3l 03 1.0
c.l._._.'a:!__'ljll

‘ a. Natural selection

gadall oLy ‘

[ b. Artificial selection Fluall ol }
[ c. Genetic drift )l Byl }
[ d. Gene flow Oluadl (3945

9
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10.

A dichotomous key was created to identify a specific
organism. According to the characteristics below,
which of the following animals belongs to Annelids?

Shows bilateral symmetry .......Gotob
a{Shows radial symmetry ........._.Gotoc

Reproduces asexually _........ Animal 1
b{Reproduces sexually............ Gotoc

Has hydro-vascular system...._.... Animal 2
c{Has closed blood circulation ........Gotod

Animal 3

Is hermaphrodite .................
d{ Animal 4

15 a fully functioned male..........
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Animal 1

10\_9:0:.“ ‘

b. Animal 2

20‘_9:0:.“

Animal 3

3 Q\}:oz.“ ‘

Animal 4

4()‘%2.“ ‘
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An Rh+ man whose parents were both homozygous Rh+ lgos Blye] (o T c+Rh Lz 0MWlaie 419 Y8 +Rh des J)
marries Rh- women whose father was heterozygous Rh+. ARh Wi Olalie LaWllg -Rh

What percentage of their children will be expected to have  Uix> bl PO PRI ob o) abY dadgiall dowdl! Pl

homozygous Rh+ blood? ¢+ Rh
a. 0%
b. 25%
c. 50%
d. 100%
12.
Which of the following structures are present in a G5 guall 8l gl Sy LS 3 839790 olial Sl Oe {_51

photosynthetic prokaryote?

: __ | Chloroplasts
Mitochondria| — _ me DNA Cell wall
b S Gy | gt omel | AR e
A X X v v
B X Al v X
N . Key: gladl
C ! ! X )( V= Present 253 56=
D y X X y X= Absent 15250 e =X
a. A
b. B
c. C
d D
12
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13.
The pedigree below represents the inheritance of a Sbe e Dl (ol dsT dlyg Jiad ool lalasal)
human disease over three generations. Jlat a9

What is the probability that the daughter of individual dao Il Jeadl- QU1 00l ) Jakiadd Ol Adlax>] »p b

[1-2 would receive the disease trait from her father? Slawlly cpo (250l
generation ()
T 0@
1 2

generation (|]) ﬁ
2 Jaa
1 2 3 4 5 6 7

T o T

O Unaffected female dAno b wid O

‘ Affected female Ao el .
D Unaffected male o pe ) D
- Affected male wlno S) .

a. 75%
b. 25%
c. 0%

d. 100%

13
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14.

Listed below are the percentage composition of each
nitrogenous base from DNA of four species.

What is a valid deduction from these data?
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0o Az s BasB (S duSH dgiall Al o Jound!
o512y sl paedl

FObldl 0do ¢y deMsviuwl (Say Sl Lo

Source of DMNA

U . Adenine (%) Suanine (%) Thymine (%) Cytosine (%)
e e R 'i“;"n - i R 1558 R =40
o (i il gl Cadlil BTN
L5
Sea urchins

el il 328 17.2 328 17.2
Yeast
L 31.3 18.7 5329 171
SPIPER|
IMaize

Vel o 26.8 228 272 23.2
E=3 H_'].'I.._a = =
Human

R 293 20.7 300 20.0

-
a. The structure of DNA in maize is similar to the one in & 839290l M5 4 elyasall 8)01 (§ S99l sl ddy
the animal cells. W PVEN B TEN ]
N\
p

b. The amount of purines is always greater than the
amount of pyrimidines.

Udras ! dxsS oy ST Ledls iy gl dxeS

c. Adenine shows a complementary base pairing with
Guanine.

L8lsdl ae LB AleSls 5l yghay cyuaadl

d. The four bases of DNA in all species show
complimentary base pairing.

1991 gz 8 S95) ezl a¥ Aukerg il gl gl
Mo Tyl
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15.

Which of the following statement is correct about the
effective role of enzymes in facilitating chemical reactions?

(

&

andeillgaall nyg 3y
Educational Professions Licensure

@ Wl JBal joub dalas)l dxouall Blall (2 b
§ 45 LeuSI oMo lad) Jugawd

a. They provide energy to the reaction to speed up
the conversion of reactants to products.

I el slgall Jgo gl Jl oo @8Uall Jelad] 5953
A=l Slge

b. They speed up the chemical reaction rate by
lowering the activation energy.

Jasddd) BBl auasels dﬂ:}jéw v |J$Lb.2.l|d.).mif“3

c. They raise the temperature of the reaction to allow
more reactants to convert into products.

Slgall (pe dpad Zlawd) Yol g Jolaill 81y dmys 20,3

A=l .)\_9,0 J! L@{A};&J alelaiall
d. They activate the chemical reactions by increasing Bl (Sgiume B3L) 3o,k (e by A8k S wlelad)l aids
the level of activation energy. Jasddd)

16.

Which of the following orders represents the secretory
pathway of proteins into the extracellular environment?

Al ) OUBg U (2131 bl Jiad AW OLBA ¢y S
A5 dummy sl

a. Rough ER - Golgi apparatus — Golgi cisternae-
secretory vesicles — cell membrane

eU'a.S Ol -LN;.EJ}D_- eUaJ —diisd) daidg syl 4l
:gl?':“ clas -G”UJL\B);“ CJM&?;H -L.?'J?

b. Rough ER - Golgi apparatus — Golgi cisternae —
Lysosomes- cell membrane

plas Clpz — (g pllas —diasdl dujdbgusl dSuad!
Al slad — Allmd)) Slopaull - (2

c. Smooth ER - Golgi apparatus — Golgi cisternae-
secretory vesicles — cell membrane

Pl lps — 2o s —sludall duojdloguiYl dSiidl
Al it — L5131 dluasg=ddl — (9>

d. Smooth ER - Golgi apparatus — Golgi cisternae-
Lysosomes — cell membrane

plas il — (292 Al -sldall 405y Al
Al sl — Al Slogunl| — (29
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17.

A student was observing a specimen at a total
magnification of 100X; while observing, he moved the
objective lens to 40X and focused on the specific region of

(
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M9 £X100 Jlaz] 465 B3y sgzme o A b L3y
Bouxe dilare e 359 X40 J) dcudd) duwiall L3> cigdlye

LRt

g (31 A8aadl Lo - g,8301 o)l e Lot Aiall (y0

T Il |
the specimen using the coarse adjustment knob. What )l ez
problem would the student face?
‘ a. The slide would probably break oyl S (§ andy I }

LIl Jlxa 3 Aiadl 0555 ¢ ‘

The specimen will not be in the field of view
‘ c. Resolution power will increase tremendously Pl Sty 201593 21353 Bger ‘
[ d. Light intensity will be higher than expected Bse 9 oo ST cgatll Bk 05Sn J
18.

Which of the following occurs when electrons flow
through the electron transport chain during cyclic
photophosphorylation?

1. Synthesis of ATP

2. Release of 02

3. Reduction of
NADP+ to NADPH

J5 Adas IO 1 9 38T (3035 Losie Caamy I 0w (S
(‘.‘L‘.S‘)M\ 2SI 8y99 <3 C)U‘g).\"s.‘}“

SR o oS
s il

e €Y 30k 2

NADPH 1 +NADP Ji sl 3

land?2

T

—
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d. 1and3

Answer Key

Question Answer
1.
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